
Ãèìíàçèÿ 1543 9-Â êëàññ 28 ñåíòÿáðÿ 2010ã.

Ìåòîä èíòåðâàëîâ

1. Ðåøèòå íåðàâåíñòâî:

à) (x− 1)(x + 2)(x + 3) > 0; â)
(x− 1)(x + 2)

x + 3
> 0; ä)

(x− 1)2(x + 2)

x + 3
6 0;

á) (1− x)(x + 2)(x + 3)6 0; ã)
(x− 1)2(x + 2)

x + 3
> 0; å)

(x2 + x + 1)(x− 1)2

(x + 2)3(x + 3)4
6 0.

2. Ðåøèòå íåðàâåíñòâî:

à)
x(x2 + 2x + 1)

(x2 − 4x− 5)(x + 1)
> 0; á)

x + 1

3x− 5
6 1

3
.

3. Ðåøèòå íåðàâåíñòâî:

à) (7 + 6x− x2)(4x− 1) < 0; ã) x> 25

1− x
− 9;

á) (x− 1)3(x− 2)(2x− 3) < (x− 1)3(x− 2)2; ä)
(x− 3)(2x + 1)

x
<

(x + 3)(x− 1)

x
;

â)
x(x2 − 10x + 25)(x− 7)5

(x2 + 2x + 4)(2− x)(x + 4)4
6 0; å)

3x

x + 1
+

x + 1

x
6 5.

4. Íàéäèòå îáëàñòü îïðåäåëåíèÿ ôóíêöèè y =

√
3− 2x− x2

x2 + 7x + 12
.

5. Ðåøèòå íåðàâåíñòâî:

à)
|x− 1|+ x + 1

2− x
> 2; á) |x2 − 4x + 3|+ 2 < 2|x− 1|+ |x− 3|.
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